

acct Brodme

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

INVOICE

Invoice Number: 148078

Invoice Date: Jan 2, 2015

Page:

1

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket #	Payment T	erms
Murfin	64633	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Jan 2, 2015	2/1/15

Quantity	ltem;	Description	Unit Price	Amount
1.00	WELL NAME	Shuler A #2-20	100000000000000000000000000000000000000	
200.00	CEMENT MATERIALS	Class A Common	17.90	3,580.00
564.00	CEMENT MATERIALS	Chloride	1.10	620.40
210.00	CEMENT SERVICE	Cubic Feet Charge	2.48	520.80
387.20	CEMENT SERVICE	Ton Mileage Charge	2.75	1,064.80
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
40.00	CEMENT SERVICE	Pump Truck Mileage	7.70	308.00
1.00	CEMENT SERVICE	Swedge Manifold Rental	275.00	275.00
40.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	176.00
1.00	CEMENT SUPERVISOR	LaRene Wentz		
1.00	EQUIPMENT OPERATOR	Brandon Wilkinson		
1.00	OPERATOR ASSISTANT	Wayne Messalle		

ALL PRICES ARE NET, PAYABLE
30 DAYS FOLLOWING DATE OF
INVOICE. 1 1/2% CHARGED
THEREAFTER. IF ACCOUNT IS
CURRENT, TAKE DISCOUNT OF

\$

2.820.03

ONLY IF PAID ON OR BEFORE Feb 1, 2015

Subtotal	8,057.25
Sales Tax	300.33
Total Invoice Amount	8,357.58
Payment/Credit Applied	
TOTAL	8,357.58

- 2820.03 5,537.55





Grade Me

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

BillTo:

Murfin Drlg. Co., Inc. 250 N. Water STE #300

Wichita, KS 67202

INVOICE

Invoice Number: 148078

Invoice Date: Jan 2, 2015

Page: 1

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket#	Payment	Terms
Murfin	64633	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Jan 2, 2015	2/1/15

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Shuler A #2-20		10 1 1 2 2 2 2 2 3 5 AV 2 3 1 4 1
200.00	CEMENT MATERIALS	Class A Common	17.90	3,580.00
564.00	CEMENT MATERIALS	Chloride	1.10	620.40
210.00	CEMENT SERVICE	Cubic Feet Charge	2.48	520.80
387.20	CEMENT SERVICE	Ton Mileage Charge	2.75	1,064.80
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
40.00	CEMENT SERVICE	Pump Truck Mileage	7.70	308.00
1.00	CEMENT SERVICE	Swedge Manifold Rental	275.00	275.00
40.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	176.00
1.00	CEMENT SUPERVISOR	LaRene Wentz		
1.00	EQUIPMENT OPERATOR	Brandon Wilkinson		i
1.00	OPERATOR ASSISTANT	Wayne Messalle		
	•			
	·	Subtotal	·	2.257.25

ALL PRICES ARE NET, PAYABLE
30 DAYS FOLLOWING DATE OF
INVOICE. 1 1/2% CHARGED
THEREAFTER. IF ACCOUNT IS
CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE

Feb 1, 2015

	
Subtotal	8,057.25
Sales Tax	300.33
Total Invoice Amount	8,357.58
Payment/Credit Applied	
TOTAL	8,357.58

- 2820.03 5,537.55 OV M

ALLIED OIL & GAS SERVICES, LLC 064633

Federal Tax 1.	D. # 20-8651475	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092		SERV	ICE POINT:	ey; B
Sharp Way	CALLED OUT	ONLOCATION 770 PLA	JOB START	JOB FINISH
LEASE WELL# 2 - 30 LOCATION REXT	rd SECRA,		COUNTY	STATE
OLD OR NEW Circle one) Catine, W,	1.780 NY	E News		
CONTRACTOR Man fun 7	OWNER 5	cice_	•	
TYPE OF JOB Serrfeice	OTTICK C		"	
HOLE SIZE /275 T.D. 2/200 CASING SIZE 2/2 DEPTH 2/2.56	CEMENT			<u> </u>
TUBING SIZE DEPTH 2/9.56	AMOUNT ORI	DERED 300	9 <i>1</i> C CON	-380C
DRILL PIPE DEPTH				
TOOL DEPTH		1		
PRES. MAX MINIMUM	COMMON	2005/5	@ 12.90	3580.00
MEAS. LINE SHOE JOINT CEMENT LEFT IN CSG. 757	POZMIX		@	
CEMENT LEFT IN CSG. /S / PERFS.	GEL	= 67.67	@	
DISPLACEMENT 1309 661	CHLORIDE	564#	@ /:/O	6,20.10
EQUIPMENT	ASC		.@	
J O	Moder	100 Total	00	4,200.00
PUMPTRUCK CEMENTER CLOVE Confe			<u></u>	
#373/281 HELPER Brandon Wilkinson	<u> </u>	2.14/35 to	\[\rightarrow \]	
BULK TRUCK			.@	
#8/8/281 DRIVER Wayne Massalle			. <u>@</u>	
BULK TRUCK # DRIVER	-		·@	
" DRIVER	HANDLING A	10 ft	@ 2.98	520.80
PPMALEUR	MILEAGE 76	8 ton X 40	X2.95	1064.80
REMARKS: MX 200 Sts coment			TOTAL	
Displace with water				
Coment did circulate		SERVIC	E	
10 sts to pit	DECTH OF LOS			7.4%
	DEPTH OF JOE PUMP TRUCK			5/225
	EXTRA FOOTA		<u> </u>	213622
	MILEAGE		@ 7.90	30800
- Hank you	ک MANIFOLD		@	77500
•	MILL	40	@ <i>4,40</i>	17600
CHARGE TO: Martin			@ 	
	/100	0 59/3)	[E]	2 850 05
STREET	(134	7.0 17 00	TOTAL	2.106.10
CITYSTATEZIP	<u>C</u>			
	P.	LUG & FLOAT	EQUIPMEN'	F
	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·		
	·		@	
To: Allied Oil & Gas Services, LLC.				
You are hereby requested to rent cementing equipment			@	
and furnish cementer and helper(s) to assist owner or			©	
contractor to do work as is listed. The above work was		1.5		-
done to satisfaction and supervision of owner agent or			TOTAL	
contractor. I have read and understand the "GENERAL				
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If	Any)	2 1	_
D. 11/1.		SES 8057	<u>.9.2</u>	
PRINTED NAME TREO WILLIAM	DISCOUNT 2	. 800 03/	37812 8410	IN 30 DAYS
	2.00000111		it LWIF	A THA DO DATE

5,237.21 Net.





PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202 INVOICE

Invoice Number: 1480 85

Invoice Date: Jan 10, 2015

Page: 1

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket#	Paymen	Terms
Murfin	64868	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	Jan 10, 2015	2/9/15

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Shuler A #2-20		The state of the s
255.00	CEMENT MATERIALS	60/40/4% Gel Blend	18.92	4,824.60
63.75	CEMENT MATERIALS	Flo Seal	2.97	189.34
273.87	CEMENT SERVICE	Cubic Feet Charge	2.48	679.20
457.20	CEMENT SERVICE	Ton Mileage Charge	2.75	1,257.30
1.00	CEMENT SERVICE	Plug to Abandon	2,483.59	2,483.59
40.00	CEMENT SERVICE	Pump Truck Mileage	7.70	308.00
40.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	176.00
1.00	EQUIPMENT SALES	8-5/8 Dry Hole Plug	110.00	110.00
1.00	CEMENT SUPERVISOR	Andrew Forslund		
1.00	EQUIPMENT OPERATOR	Brandon Wilkinson		
1.00	OPERATOR ASSISTANT	Wayne Messalle		
				,
			,	
				i
				ĺ

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 3,471.29

ONLY IF PAID ON OR BEFORE Feb 9, 2015

Subtotal	10,028.03
Sales Tax	717.00
Total Invoice Amount	10,745.03
Payment/Credit Applied	
TOTAL	10,745.03

. 3471.29

7,273.74

ON SI

ALLIED OIL & GAS SERVICES, LLC 064868

redetal lax I.D.	# 20-8651475		
EMIT TO P.O. BOX 93999	SBI	RVICE POINT:	
SOUTHLAKE, TEXAS 76092		pakte	cry
	LLED OUT ON LOCATION		JOB FINISH
SHILL A A-20 LOCATION REXTOR		COUNTY.	STATE
OLD OF NEW (Circle one)	C 85. S N MYC	Dewiter	15
1707770			
CONTRACTOR PUCKFIN ?	OWNER SOME		
TYPE OF JOB 97A			
HOLE SIZE 2 1/3 T.D. 1/124' CASING SIZE DEPTH	CEMENT AMOUNT ORDERED	- L- G	Vin Alice
CASING SIZE DEPTH FUBING SIZE DEPTH	AMOUNT ORDERED 1255	5 5/55 /	40 9705-6
DRILL PIPE 4/2 DEPTH 2560'	77975 (00	·	
TOOL DEPTH			
PRES. MAX MINIMUM	COMMON	@	
MEAS. LINE SHOE JOINT	POZMIX		
CEMENT LEFT IN CSG.	GEL	@	
PERFS. DISPLACEMENT	CHLORIDE		
	ASC 4969EC 2550	@ ck:@/8.92.	World in
EQUIPMENT	790 1100 200 0	<u> </u>	10071 COC)
PUMPTRUCK CEMENTER Andrew Forshind	· · · · · · · · · · · · · · · · · · ·	@	·
7	Florsent 63.75	@ <u>2.92</u>	125,001
# 420 HELPER Brandon W. 11Kin	***************************************	<u> </u>	-
# 818 DRIVER Wayne Messalle	Making Total	, , , @j	49999
BULK TRUCK	<u> </u>	<u>/ 9</u> @	· · · · · · · · · · · · · · · · · · ·
# DRIVER	HANDLING 223 8264	10000.48	738.78
	MILEAGE 2.25 Tenfin		
REMARKS:		TOTAL	
		10171	<i></i>
50 SKI B. 2560'	SER'	VICE	
100 sks 6 1820'			
50 365 (0) 220'	DEPTH OF JOB257	5.0 ·	
10 510 0, 40'	PUMPTRUCK CHARGE		2483,57
15 sks musehole 30 sks Rat lule	EXTRA FOOTAGE		
SO ON NAT TOOL	MILEAGE 40 miles		308,00
Thank you	MANIFOLD LIGHT VEHILLE	@ @4: <i>YZ</i>)	12.00
Thought 904	Cigni V Cinco	@ 4.72	774700
CHARGE TO: Mour Fin		1	
CHARGE IO: FRIGER / NO	1716.12/353	J TOTAL	. <u> </u>
STREET	(1110.16/00)	, 101711	ر <u>م حادث می</u> د. د
CITYSTATEZIP			
	PLUG & FLO	AT EQUIPME	NT
	878		
	1 Dry hole plug		110,00
		@	
To: Allied Oil & Gas Services, LLC.	<u></u>	@	
You are hereby requested to rent cementing equipment		@ @	
and furnish cementer and helper(s) to assist owner or			
contractor to do work as is listed. The above work was	() () () () () () () () () ()	/ ፕ ር ፕል	110,00
done to salisfaction and supervision of owner agent or	Section Nation	IOIA	
contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)		
	TOTAL CHARGES 10	N13.99	
TED///line	TOTAL CHARGESTC_A	/252\	

6.547.59 Net.